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QUESTION 6

6.1 R12 000 was invested in a fund that paid interest at m% p.a., compounded quarterly.

6.2

6.3
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After 24 months, the value of the investment was R13 459,

Determine the value of #1.

On 31 January 2022, Tino deposited R1 000 in an account that paid interest at 7,5%
p.a., compounded monthly. He continued depositing R1 000 on the last day of every
month. He will make the last deposit on 31 December 2022.

Will Tino have sufficient funds in the account on 1 January 2023 to buy a computer
that costs R13 0007 Justify your answer by means of an appropriate calculation.

Thabo plans to buy a car that costs R250 000. He will pay a deposit of 15% and take
out a loan for the balance. The interest on the loan is 13% p.a., compounded monthly.

6.3.1 Calculate the value of the loan.
6.3.2 The first repayment will be made 6 months after the loan has been

granted. The loan will be repaid over a period of 6 years after it has been
granted. Calculate the MONTHLY instalment.
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QUESTION 7

7.1

7.2

How many vears will it take for an investment to double in value, if it earns interest at
a rate of 8,5% p.a., compounded quarterly?

A company purchased machinery for R500 000. After 5 years, the machinery was
sold for R180 000 and new machinery was bought.

7.2.1 Calculate the rate of depreciation of the old machinery over the 3 years,
using the reducing-balance method.

722 The rate of inflation for the cost of the new machinery is 6,3% p.a. over
the 5 years. What will the new machinery cost at the end of
5 years?

723 The company set up a sinking fund and made the first payment into this

fund on the day the old machinery was bought. The last payment was
made three months before the new machinery was purchased at the end of
the S years. The interest eamed on the sinking fund was 10,25% p.a.,
compounded monthly. The money from the sinking fund and the
R180 000 from the sale of the old machinery was used to pay for the new
machinery.

Calculate the monthly payment into the sinking fund.
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QUESTION 8
8.1 A farmer bought a tractor for R980 000. The value of the tractor depreciates annually

at a rate of 9,2% p.a. on the reducing-balance method. Calculate the book value of

the tractor after 7 years. 3)
8.2 How many years will it take for an amount of R75 000 to accrue to R116 253,50 in

an account earning interest of 6,8% p.a., compounded quarterly? (4)
8.3 Thabo wanted to save R450 000 as a deposit to buy a house on 30 June 2018.

83.1 He deposited a fixed amount of money at the end of every month into an

account earning interest of 8,35% p.a., compounded monthly. His first
deposit was made on 31 July 2013 and his 60th deposit on 30 June 2018.
Calculate the amount he deposited monthly. (3)

8.3.2 Thabo bought a house costing R1 500 000 and used his savings as the
deposit. He obtained a home loan for the balance of the purchase price at
an interest of 12% p.a., compounded monthly over 25 years. He made
his first monthly instalment of R11 058,85 towards the loan on

31 July 2018.
(a2) What will the balance outstanding on the loan be on 30 June 2039,
21 vyears after the loan was granted? 3)
(a2) Calculate the interest Thabo will have paid over the first
21 years of the loan. (3)
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QUESTION 7
7.1 An amount of R10000 was invested for 4 years, earning interest at % p.a.,
compounded quarterly. At the end of the 4 years, the total amount in the account was
R13 080. Determine the value of r. (4)
7.2 A businesswoman deposited R9 000 into an account at the end of January 2014, She

continued to make monthly deposits of R9 000 at the end of each month up to the end
of December 2018. The account earned interest at a rate of 7,5% p.a., compounded
monthly.

7.2.1 Calculate how much money was in the account immediately after
60 deposits had been made. (3)

722 The businesswoman left the amount calculated in QUESTION 7.2.1 for a
further » months in the account. The interest rate remained unchanged
and no further payments were made. The total interest earned over the
entire investment period was R190 214,14, Determine the value of n. (6)
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